/97

1450 minutes in = civilized 24 hour day.
1440 = 131(LIMET)= 7.955801% minutes{TI;E)
1L40 + 120{TLF) = #,0050005 ninuteslLICHT)
incients knéw=-s-mathemsticzlly that the distsnce that TINE traveled
in 198,86507 dsys, it took LITHT 200 days to trsvel the szme distance,

158.89507 dys. § 200 dys. = .9S44T535

24 hours x LS9GL4T535= 23 .B86740%%F hours
7 9553014 x 130 stoms—260= 23.8857404 hours

200 - 194,80507 =1,10453dvs. - 200 x 2k x 60 = 7.955496 minutas
mLUGEELGE x 60= LT7T7.15576 seconds.
Dist-nce [ror the SUN to Earth ©3,000,000 miless divide 477.33%76=

164,833.85 miles per second is
the speed of LIGHT,

Zus the Apcients discovered thst the Flanet VRILE
because it rot=tes in =n opposite directien Ifrom
the other Bl=nets in our Solar System, its TIME
CYCLE =meting =5 zn Opposing Force caused a TIME
DIMENSIONAL CHANGE for the other Planets by
cresting s Time Perimeter around the Sun.

93 million miles x 2 X/ 584,335,740 miles circumference
of the Earth traveling arcund the

Sun.

584,335,740 miles + 365,240833 dys= 1,599,864.2 miles per day

1

1,599,864.2 # 24 hours = 66,661.008 miles per hour
66,661,008 + 60 minutes = 1,111.0168 miles per minutes
1,111.0168 7 60 seconds = 18.516947 miles per second.

The Earth is traveling at 18.516947 miles per second around the Sun.
Tt takes L77.32976 seconds for the Light of the Sun to reach Earth.
18.515894L7 x 477.32076 = 8,438.68090 miles

194 ,#33.86 miles per second LIGHT is

traveling
- A/ .&38.68

' 185 17 miles per segond LIGHT IS
traveling after the TIME DIMENSIONAL CHANGE ravsed by VENUS.

lah@ minutes in civilized ZL hour day. §



THE SUN
hat
EE traveled

the Ancients discovered that the Planet because it rot-°-tes in en opposite directicn from the other P-lenets in our Solar
System, its TIME CYCLE acting es an Opposing Force caused a DIMIENSIONAL CHANGE for the other Planets by creating a
Time Perimeter around the Sun.

of the Earth traveling around the Sun.
365.2b0833 dys=1,599,86h.2 miles per day
1,599,86h.2 E- Zh hours = 66,661.008 miles pe? hour
4 60 minutes = 1,111.0168 miles per minutes
L111.0168 60 seconds = 18.516957 miles per second
The Earph is traveling at 18.5169L{7
miles per second around the Sun.
It takes (v77.32976 seconds for the Light of the Sun to reach Earth.
18.51691!! X = 8,838.6899 mile’s
19;+,333.86 miles per second LIGHT is

traveling _ 68
traveling after' the DIMENSIONA



